

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202



Invoice Number: 131243

Invoice Date: May 17, 2012 1

Page:

OPERATOR PAY MOC



Geet. JizH.

Customer ID	Well Name/# or Customer P.O.	Payment Te	rms	
Murfin	Epard #2-27	Net 30 Days		
Job Location	Camp Location	Service Date	Due Date	
KS1-01	Oakley	May 17, 2012	6/16/12	

Quantity	Item	Description	Unit Price	Amount
225.00	MAT	Class A Common	16.25	3,656.25
4.00	MAT	Gel	21.25	85.00
8.00	MAT	Chloride	58.20	465.60
56.00	MAT	FloSeal	2.70	151.20
247.05	SER	Handling	2.10	518.81
20.00	SER	Ton Miles	26.16	523.15
1.00	SER	Surface	1,125.00	1,125.00
20.00	SER	Heavy Vehicle Mileage	7.00	140.00
1.00	SER	Manifold Head Rental	200.00	200.00
20.00	SER	Light Vehicle Mileage	4.00	80.00
1.00	CEMENTER	Andrew Forslund		
1.00	EQUIP OPER	Jerry Yates		
1.00	OPER ASSIST	Brandon Wilkinson		
		OKA		,
		() Nie		
	0.045.04			

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE_11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

ONLY IF PAID ON OR BEFORE Jun 1/1, 2012

Subtotal 6,945.01 Sales Tax 318.14 **Total Invoice Amount** 7,263.15 Payment/Credit Applied TOTAL 7,263.15

7 Deduct

ALLIED OIL & GAS SERVICES, LLC 056261 Federal Tax I,D.# 20-5975804

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:			
Tona Terris			DANC	-
DAIE 3 -77-74 87 100 390	CALLED OUT	ON LOCATION	198 START	JOB FINISH
LEASE Pard WELL# 2-27 LOCATION MONU	most a.		COUNTY	STATE
	men LW	SN	Thomas	tes
OLD ORNEW (Circle one) 2 w 15 1/4	w sinto			
CONTRACTOR MUSFIN 20	OWNER 6			
TYPE OF JOB Surface	OWNER S	ame		
HOLE SIZE 12/4 T.D. 268	CEMENT			
CASING SIZE 848 DEPTH 268'		TERRE 22~	- 60	200
TUBING SIZE DEPTH	AMOUNT ORL	ERED 225	5 80 CO	23%CC
DRILL PIPE DEPTH	a roger	- 14 FLO	Sear	
TOOL DEPTH				
PRES. MAX MINIMUM	COMMON_2	25-65	~ // ~~	سعود المسارية
MEAS. LINE SHOE JOINT	POZMIX	40000		3656125
CEMENT LEFT IN CSG. 15'		4 sks	@ 2425	0) P 00
PERFS.	CHLORIDE		@ 2/125	85,00
DISPLACEMENT 16,11 BOL	ASC	8 020		465,60
EQUIPMENT	7100		.@ @	
EQUI MIMI	Flo-sequ	1 56th		15/20
PUMPTRUCK, CEMENTER Andrew	10000			15/120
1/10 00/	-		.@ .@	
BULK TRUCK HELPER Jerry			@	
			.@	
#347 DRIVER Brandon BULK TRUCK			@	
			@	
# DRIVER	HANDLING 2	4705 C4/F1	@2110	518180
	MILEAGE 2.3	mile 1/1BI	TERS	523,15
REMARKS:				5400,00
			IOIAL	3 700700
		SERVIC	· 12	
Cement and circulate		ODA VIC	.15	
	DEPTH OF JOB	268'		v. 1
	PUMPTRUCK	CHARGE		5,00
	EXTRA FOOTA		@	3100
	MILEAGE 20		@2100	140,00
	MANIFOLD_	read	@	200,00
thank you	Light vehic	le.	@4,00	80,00
	()		@	-50,00
CHARGE TO: Murkin				
		12	TOTAL	1545100
STREET			TOTAL	/
CITYSTATEZIP				
	P	LUG & FLOAT	EQUIPMEN	Г
			<u> </u>	
			@	
To: Allied Oil & Gas Services, LLC.			@	
You are hereby requested to rent cementing equipment			@	
and furnish cementer and helper(s) to assist owner or			@	
contractor to do work as is listed. The above work was				
done to satisfaction and supervision of owner agent or			TOTAL	
			IOIAL	
contractor. I have read and understand the "GENERAL	SALESTAY	Any)		
TERMS AND CONDITIONS" listed on the reverse side.				
11. 1	TOTAL CHARG	ES		
PRINTED NAME OREC CONDIEN				
,	DISCOUNT		IF PAID	IN 30 DAYS
PRINTED NAME O'REG CONDIEN SIGNATURE Lug Couch				
SIGNATURE LANGE CALLER				



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300

Wichita, KS 67202

INVOICE

Invoice Number: 131364

Invoice Date: May 27, 2012

Page: 1



CustomerID	Well Name/# or Customer P.O.	Payment Terms			
Murfin	Epard #2-27	Net 30 Days			
Job Location	Camp Location	Service Date	Due Date		
KS1-03	Oakley	May 27, 2012	6/26/12		

Quantity	Item :	Description	Unit Price	Amount
132.00	MAT	Class A Common	16.25	2,145.00
88.00	MAT	Pozmix	8.50	748.00
8.00	MAT	Gel	21.25	170.00
55.00	MAT	FloSeal	2.70	148.50
236.27	SER	Cubic Feet	2.10	496.17
197.20	SER	Ton Miles	2.35	463.42
1.00	SER	Plug To Abandon	1,250.00	1,250.00
20.00	SER	Heavy Vehicle Mileage	7.00	140.00
20.00	SER	Light Vehicle Mileage	4.00	80.00
1.00	EQP	4 1/2 Top Wooden Plug	92.00	92.00
1.00	EQUIP OPER	Darren Racette		
1.00	EQUIP OPER	Tyler Flipse		
1.00	OPER ASSIST	Brandon Boor		
			1015/12	
			u 1	
		Subtotal		E 722.00

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 2006.59

ONLY IF PAID ON OR BEFORE
Jun 21, 2012

Subtotal	5,733.09
Sales Tax	418.52
Total Invoice Amount	6,151.61
Payment/Credit Applied	
TOTAL	6,151.61

ALLIED OIL & GAS SERVICES, LLC 056205 Federal Tax I.D.# 20-5975804

REMIT TO P.O. B RUSS	OX 31 ELL, KANS	SAS 676		K I.D.# 20-59/5804	SI	ERVICE POINT	Van
DATE 5-27-12	SEC.	TVP.	RANGE	CALLED OUT	ON LOCATIO	0.770	4
LEASE Epard			34		330	An 7.00	PM 8'00 PM
LEASE	WELL# 2	-27	LOCATION MONUM	nent 2W.5N-2	2W-15-1/2	ω Thomas	STATE
OLD OR NEW (Cir	cle one)		Sinto		1- 14	THORAS	
CONTRACTOR TYPE OF JOB	Murtin	20		OWNER 50	me.	 	
	18	T.D.		-			
CASING SIZE			тн	CEMENT		601	
TUBING SIZE			TH	AMOUNT ORI	DERED 22	05KS 14	0 4% Gel
DRILL PIPE 4/	2	DEF		14 110	sea /		
TOOL		DEF					
PRES. MAX		MIN	IMUM	COMMON	132 5ks	dune	\$2145,00
MEAS. LINE		SHC	E JOINT	POZMIX	88 5KS		2/45, #748,00
CEMENT LEFT IN	CSG.			GEL	8 5K5	CK2125	\$ 170.00
PERFS.				CHLORIDE_	325	@ <i>Z[.n=</i> _	_ 110. =
DISPLACEMENT	35.0	25'		ASC _			
	EQUIP	MENT		Flo Seal	55#	F222	\$ 1110 50
	10 0 .000					@	
PUMPTRUCK C	EMENTER	Dace	on K				
	ELPER 74		20.13	-			
BULK TRUCK	,					@	
# 404 D	RIVER B	rando	0			@	
BULK TRUCK						@	
# D	RIVER					@	
				HANDLING 2			#496.11
	DEMA	nvo.		MILEAGE T	86 x20		1463 43
	REMA		•			TOTAL	#4171.09
Mix 25 5Ks Co	ment 2	115 F					
mix loosks Co	mont 16	88 6	<u> </u>		SERV	/ICE	
mix 40 5Ks C	emeno 3	18 Ft	·		-	The state of the s	
Mix 10 5Ks (ement	40+		DEPTH OF JOB	.		
Plug RH 3	2 245 ('s men	<i>i</i>	PUMP TRUCK	CHARGE		\$1250.00
1100 011 2	ZJKJ C	COLETT	(EXTRA FOOTA	GE	@	
				MILEAGE 20	,	@47.00	A 140.00
	Thom	12 4	*//	MANIFOLD		@	
	0100	" - 70	u.	LV mileag	4	£14.50	# 80,00.
CHARGE TO: MUI	Γ					@	-
STREET	1111					ТОТАІ	#1470.00
	20000000						
CITY	STATE		ZJP	PI	LUG & FLOA	T EQUIPMEN	1T
				1 Top Wood	en Plus	@	\$ 92,00
				10. 10. 10. 10. 10. 10. 10. 10. 10. 10.		@	
To: Allied Oil & Ga	is Services,	LLC.				@	
You are hereby requ	ested to rea	nt ceme	nting equipment			@	
and furnish cemente	er and helpe	r(s) to	assist owner or			@	
contractor to do wor	rk as is liste	d. The	above work was				#
done to satisfaction	and superv	ision of	owner agent or			TOTAL	192,00
contractor. I have re	ead and unc	lerstand	the "GENERAL				
TERMS AND CON	DITIONS"	listed o	n the reverse side.	SALES TAX (If A	Any)		
	1	7	•				
DDINTED MAN	TIREA (ands	~ 40	TOTAL CHARG			
PRINTED NAME	yree -	Mai	m	DISCOUNT		IF PAI	D IN 30 DAYS
\ ;	\mathcal{N}	/ }					
SIGNATURE	Trea	Genel	ny				
	7						